




682 x 25 =

4

5
x 5 =

3. Sandy was born in 1982. 
James was born 18 years 
later. 

a) Write the year James was 
born     
in Roman numerals.

a) Write the year in which James        
will turn sixteen in Roman 
numerals.

1.

2.
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3. Sandy was born in 1982. James 
was born 18 years later. 

a) Write the year James was born     
in Roman numerals.

a) Write the year in which James        
will turn sixteen in Roman 
numerals.

Solutions
1. 17,050
2. 4
3. a) MM b) MMXVI

1.

2.





1,549 65,660
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